
NBA finals were on Christmas day. Kyrie Irving, off 

the pick and roll, crossed over with the ball, stepped 

back and hit a 3 pointer. He made it and his team 

won. The Warriors blew a 3 and 1 league. But, The 

Warriors lost the finals of 2016.

Stephen Curry dropped a career high for the night. 81 

points on the Knicks. He has made more than 4,000 

points in his entire career. This makes him one of the 

most athletic point guards that the Golden State 

Warriors has ever had.

On March 14th, Tuesday, the Golden State Warriors 

beat the Philadelphia 76ers by 106 to 104. This 

shows that the 76ers coach, Brett Brown’s, trading of 

Nerlens Noel was a bad bargain. Now he must pay 

for it.
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